LR K2
B &R B

FHEFTER: W4 5

1. (15%)
FIREES (), Blog = -1, 21 =0, 32 = 1, 23 = 2, f(xo) = 2, f(z1) =0, f(z2) = 2,
f(xg) = 3.

(a) (L050)MHf ()3T {a )3 B2 R %
(b) (55%) 2T 8 {s, f(2i) )2y FINewton BEL Tzt -

FREF e = -2, -1, 0, 1, 20(EBE] T 20 AU (B % it :
pa(z) = 5+ 4z + 327 + 223 + 2*

HRERZIX - REERA IR KEfEr = OLMERIZ Ny = 3, AR Z Ry = 5.
FEEA R = -2, -1, 1, 200{ETARERR). 185 WA ERIEEZ I BT

p5(x) = ag + a1z + agx® + azz® + agxt + aza®.

3. (2093) A TR AKX RENEE, S5 hmIAEE RN L BUEEL D?
1
/ @ & A (1) + Aaf(=1/4) + A3 (0) + Aif (1/4) + As (1)
WA X B 25 N [a, b], HZHTRS
b
/ f(z)dz

AR N EERR > A -
4. (2097) BRE f(z) = a°
(a) (1097) 4 tH = UIGREZ T ps (), #Lp3(0) = £(0), p5(0) = f(0), ps(a) = f(a),

Pi(a) = ['(a).
(b) (109)) Z8th f(z) — pla) HPREFGAR, EIRRERERFE, = Lz + 2a).

5. (1597)
SN N EARVER aeb A 230 &
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6. (1593) &p(x) = 23 + ax® + bx + ¢, PR a, b, cHME, H5p(2) W a0 FEERI LR
F i/
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